Case 1: 2 1ocal river has been blocked by an

invasive plant, floating pennywort.

Detective’s report:

What caused the How can we stop 1t
problem? happening again?

NNSS

=GN



Case 2: 2n exotic snake has been rescued from

a park.

Detective’s report:

What caused the How can we stop 1t
problem? happening again?
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Case 3: 2 wood has been taken over by an

invasive plant, American skunk cabbage.

Detective’s report:

What caused the How can we stop 1t
problem? happening again?
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Case 4: rmerican skunk cabbage has been found

in a second wood a few miles away.

Detective’s report:

What caused the How can we stop 1t
problem? happening again?
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